0001844815518999
&Ko —O EFHIXY 00—

2014 4 45 1 [

1| BAROR Bz X0,

y=2x—1)2?—2x—2) CHEAZLNB Vil FOWK C % £2 5.
(1) R C & 2 il O A8 fD Wik Z T RTHEZ X\,
(2) r=a Tli#t C L HETIHEBMOLTRE a 2 T E 2L X\,
(3) x=aTilh# C LT HHME yllle OO y k% b & T3, —% Sa<3iiBl3bDRUMiE
RARMEBFZAGI WV, £z, DDA, BAEEBE XD qaDfiizZNTREZL X,
2 21/4+4¢4.2
(1) R(A~1)(X=2x~2)=0 ). 2=/, LT e [TV

(r.0) (11/3,0) (1-/30)

(r) 7’: 2 (X=an=-2)+2(x-1)(ax-2)
= 4= 72

9= (ba*-r2a)(x-a)+ 2(a-)(a~2a-2)

J=6ala-2)x ~42°+éa*+ ¢

Ve
G) p= —qa’+da*+4 [ 3
b= —p2a*trza ‘27
l/é

= -sza(a-1)

bogedMBiz ~KD (a=3me3)

%M@m § ( 2=(ar3)




